Maths Week 8

Parents please show them the PowerPoint slides for Year 3&4 to introduce them to the topic.  

Your child knows which sheets they usually do in class. The sheets are labelled with:
D means Developing (easy)
E means Expected (middle)
GD means Greater Depth (challenging) 

Once they finish the developing, they can do the expected worksheet for their challenge. 

The expected children can progress to greater depth once they finish the expected questions. 

Make sure you write your L.O and date in your book. There is one PowerPoint for each day.  

Please note- You do not have to print out any work. Children should date and number their work and show any working out in their books like they usually do in class.












Week 8 Thursday 14th May 2020
Please click on this link for more information- https://www.bbc.co.uk/bitesize/topics/zp8dmp3/articles/z2s6hv4
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Giving Change

Ta. Josh buys a packet of sweets for £1
and 85p. He pays with a £2 coin.

change.
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Complete the number line to work out his

1b. Ben pays fo go swimming. It costs £4
and 75p. He pays with a £5 nofe.
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2a. Jade buys a bag of popcor for £1

and 45p She pays with a £2 coin. What
will her change be?

2b. George buys a comic for £2 and 50p.
He pays with a £5 note. What wil his
change be?
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3a. Amy buys a pair of gloves for £4.80.
She pays with a £10 note. Calculate her

change. °

3b. Jack buys a hat for £3.90. He pays
with @ £5 note. Calculate his change.
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4a. If you buy a dinosaur toy, what will

your change be if you pay with a £5
note?

£4 and
75p

4b. If you buy a rocking horse, what will

your change be if you pay with a £10
note?

£8 and
90p
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5a. Tom buys a book for £3 and 84p. He
pays with a £5 note. Complete the
number line to work out his change.
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5b. Katie buys a ball for £7 and 78p. She.
pays with a £10 note. Complete the
number line to work out her change.
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4a. Hannah buys a packet of crisps for £1
and 34p. She pays with a £2 coin. What
will her change be?

b. Emma buys a cinema ficket for £4
and 29p. She pays with a £5 note. What
will her change be?
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7a. Sam buys a scarf for £7 and 89p. He
pays with a £10 note. Calculate his

change. e

7b. Charlie buys a shirt for £8 and 27p. He
pays with a £10 note. Calculate his

change @
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8a. If you buy the windmill and the yoyo,
what will your change be if you pay with
a£20 note?

8b. If you buy the jigsaw and the drum,
what will your change be if you pay with
a£20 note?
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